
QSSA STATION ACCESSORIES BUILDATHON

BOM V5

1 - 1K RESISTOR 1 - 33pf CAPACITOR

1 - 4.7K RESISTOR 2 - .022uf CAPACITOR

4 - 10K RESISTOR 2 - .047uf CAPACITOR

2 - 18K RESISTOR 2 - .1uf CAPACITOR

1 - 47K RESISTOR 1 - .33uf CAPACITOR

1 - 1M RESISTOR 1 - 1uf ELECTROLYTIC CAPACITOR

1 - 50K 9mm POT 1 - 10uf ELECTROLYTIC CAPACITOR

2 - DUAL 266pf POLYVARICON CAPACITOR

1 - LM78L05 REGULATOR

1 - PN2222 TRANSISTOR

1 - 2N3904 TRANSISTOR

1 - 2N7000 FET TRANSISTOR

1 – PIC12F1840 or PIC12LF1840

1 - T106-2 TOROID

1 - STEREO JACK

3 - 2pin SCREW TERMINAL BLOCK

1 - 3pin SCREW TERMINAL BLOCK

1 - 2pin MEMBRANE PUSH BUTTON

1 - 8pin DIP SOCKET

1 – 4-40 x 1/4” MACHINE SCREW

1 – 4-40 x 3/8” MACHINE SCREW

2 - 4-40 NUTS

1 - #4 FLAT WASHERS – thin

4 - #4 FLAT WASHERS – thick

4 - 3mm x 2.5mm SCREWS

2 - 3mm X 10mm SCREWS

2 – KNOBS for 1/4” SHAFTS

2 - 1/4” x 1/4” NYLON SPACER

40” 22ga RED MAGNET WIRE

100' 26ga STRANDED HOOK-UP WIRE

1 – KEY PCB

1 – MAIN PCB


